106Midterm (Sem2/42)

Questionl

a) P={0,1,2,3,4}
S4 =4T;O{\/§+ 12+ 8+ 4V35 +72} (1,5)
= 18.326 (0.5)
b) fexmg:;l)dx = [udu u=In(1+e*) (2)
=>(In(1+e"))?2+C (1)
c) y = (1 + x2)2x+1

y' 2x(2x + 1)
— =2In(1 2 1,5
” n(l+x%) + 1T %2 (1,5)

r 2 2x(2x+1)
y'=(2In(1 +x%) + ZZ22)y (0,5)

Question?2

2%dx du
i =l 1= @

= L sin™! (27) +C (1)

x*dx
b) fm_ f\/uT u=x° (1)

= %cosh‘l(x5) +C (1)

dx
‘) fx1x6

_1 du _ .3
_3fu e 4= @)
= ?sech‘l(ﬁ) +C (1)



Question3

a) lim In(1+3x) — lim 3

X—00 X x—oo 1+3x
1

so lim(1+3x)x=1 (1)

X— 00

b) [e*sindxdx = e*sindx — 4 [ e*cosdxdx (1)

=0 (2)

fex cos4xdx = e*cos4dx + 4f e*sindxdx (1)

1
S0 j e* sindxdx = ﬁex(sinélx —4cos4x) + C (1)
) [(cosx)>(sinx)*dx=[(1 —u?)?u*du u = sinx (2)

; 9
= (S”;x) — %(sinx)7 + é (sinx)® + C (1)

Question4

a) [x3Vx2 — 4dx = 32 [(sec)*(tanB)?dO x = 2sech

= [(1+u)uldu u=tand (2)
= % (tanB)® + % (tan8)3 + C

= (V- + 2 (Va2 =4 + C (D)

2x%2-11x49 1 1 2
—————— == — +C (1,5)
x3—-6x249x x x-3 (x-3)2

b)

2x%2—11x+9
| dx =

2
P —6x219x In|x| +1Injx = 3|+ =+ C (1,5)



